
 

Key to Kibbizer 51: In turn 

Questions on citations 1-8:  

• Citations 1-3 repeat the verb (e.g. decays) to emphasise that the relationship between 

A & B is the same as the relationship between B & C. Citations 4-7 use synonyms 

(e.g. stimulate, cause).  

• Citation 8 extends the sequence of relationships with a second in turn  

Here are citations A-H joined to their correct second halves:  

A-

B 

Energis is owned by the National Grid Company, which in turn is owned by the 12 

regional electricity companies. 

B-

E 

Public investment leads to higher demand and higher incomes, which in turn 

prompts higher private investment and thus higher output. 

C-

A 

The coach was immediately hit by a British Telecom van, which in turn was struck 

by a Ford Orion car. 

D-

C 

The resistance of the plants to ozone was proportional to the level of ozone, which in 

turn was related to the hours of bright sunshine. 

E-

F 

VS Naipaul learned a good deal of his comedy from the Indian novelist RK Narayan, 

and Naipaul in turn has influenced writers like Salman Rushdie and Rohinton 

Mistry. 

F-

D 

The mating systems of these animals are dependent upon the dispersion patterns of 

the females and these in turn are related to patterns of optimum food exploitation. 

G-

H 

It is hard to be assertive when feeling ill but patients should be encouraged always to 

ask doctors what they are doing and why. Doctors in turn should try to explain their 

actions and remain aware of patients' fears. 

H-

G 

Hurricanes are driven by warm, moist air. When this air rises to high altitudes, its 

water vapour condenses releasing latent heat. This in turn stimulates more air 

movement, building up the winds in the storm. 
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